
1 月　　日分　　秒

No,5　（3 ケタ÷ 2 ケタ）

　次の計算をしなさい。わりきれないときは、あまりもだしなさい。

2 4 6 2 1 3 3 7 1 1

3 3 9 0 5 1 9 8 0 3

2 4 5 4 9 2 9 9 2 7



月　　日分　　秒

No,5　（3 ケタ÷ 2 ケタ）

2
　次の計算をしなさい。わりきれないときは、あまりもだしなさい。

2 9 9 9 9 3 7 4 7 9

2 6 8 9 7 4 2 5 3 9

1 7 7 7 4 2 2 6 5 8



月　　日分　　秒

No,5　（3 ケタ÷ 2 ケタ）

3
　次の計算をしなさい。わりきれないときは、あまりもだしなさい。

1 8 8 0 4 2 7 8 8 7

3 3 7 4 2 4 2 5 8 1

1 6 7 4 8 2 9 9 9 7



月　　日分　　秒

No,5　（3 ケタ÷ 2 ケタ）

4
　次の計算をしなさい。わりきれないときは、あまりもだしなさい。

2 8 5 3 4 1 4 6 4 0

1 1 8 4 6 2 4 9 2 7

1 5 9 9 2 1 8 9 3 9



月　　日分　　秒

No,5　（3 ケタ÷ 2 ケタ）

5
　次の計算をしなさい。わりきれないときは、あまりもだしなさい。

3 2 6 8 1 2 1 7 5 5

3 5 8 7 2 1 3 8 2 7

2 8 8 0 6 3 2 8 3 0



月　　日分　　秒

No,5　（3 ケタ÷ 2 ケタ）

6
　次の計算をしなさい。わりきれないときは、あまりもだしなさい。

4 1 5 5 5 2 8 7 4 7

3 6 7 8 8 4 2 9 5 9

1 8 6 0 8 2 3 9 7 7



月　　日分　　秒

No,5　（3 ケタ÷ 2 ケタ）

7
　次の計算をしなさい。わりきれないときは、あまりもだしなさい。

1 2 8 0 0 3 4 5 3 4

1 6 5 1 1 3 7 9 5 5

2 8 8 1 8 1 9 7 3 6



月　　日分　　秒

No.6   （四則計算／（）を使った計算）

8
5 × (2 ＋ 2) ＝ 60 ÷ 6 ＋ (11 －７)＝

6＋ (20 － 16) × 7 ＝ 5 ＋ (36 ＋ 9) ÷ 5 ＝

2 ＋ (8 － 2 × 2) ＝ 150 ÷ (12 － 2) ＝



月　　日分　　秒

No.6   （四則計算／（）を使った計算）

9
5 × (4 ＋ 2) ＝ 20 ＋ (16 － 12) ÷ 4 ＝

8 ＋ (8 － 6) × 4 ＝ 90 ÷ 15 － (21 － 16) ＝

(15 － 6 × 2) － 2 ＝ 56 ÷ (7 － 5) ＝



月　　日分　　秒

No.6   （四則計算／（）を使った計算）

10
8 ＋ (9 － 7) × 8 ＝ 16 ÷ 4 ＋ (9 ＋ 3) ＝

4 × (5 － 3) ＝ 840 ÷ (19 － 9) ＝

6 ＋ (14 － 4 × 2) ＝ (12 ＋ 8 ÷ 4) － 4 ＝



月　　日分　　秒

No.6   （四則計算／（）を使った計算）

11
19 － (16 － 7) × 2 ＝ 24 ＋ 12 ÷ (14 － 8) ＝

3 × (15 － 9) ＝ (12 ＋ 36 ÷ 4) ＋ 11 ＝

7 ＋ (9 － 2 × 3) ＝ 72 ÷ (9 － 5) ＝



月　　日分　　秒

No.6   （四則計算／（）を使った計算）

12
7 ＋ 3 × (8 － 2) ＝ 80 ＋ (18 － 8 ÷ 2) ＝

7 × (15 － 7) ＝ 63 ÷ 7 － (12 － 5) ＝

(22 － 2 × 9) － 3 ＝ 8 ＋ 32 ÷ (72 － 64) ＝



月　　日分　　秒

No.6   （四則計算／（）を使った計算）

13
15 × (4 － 2) ＝ 6 ＋ (36 － 12) ÷ 6 ＝

14 － (10 － 2 × 2) ＝ (24 ＋ 6 ÷ 3) ＋ 8 ＝

(8 ＋ 47) － 5 × 10 ＝ 360 ÷ (12 － 7) ＝



月　　日分　　秒

No.6   （四則計算／（）を使った計算）

14
18 － (16 － 8) × 2 ＝ 270 ÷ (5 － 2) ＝

(8 － 6) × 2 ＝ 39 － (25 － 16) ÷ 9 ＝

6 ＋ (24 － 2 × 2) ＝ (8 － 5) ＋ 12 ÷ 3 ＝



月　　日分　　秒

No,7　（仮分数⇔帯分数）
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月　　日分　　秒

No,7　（仮分数⇔帯分数）
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月　　日分　　秒

No,7　（仮分数⇔帯分数）
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月　　日分　　秒

No,7　（仮分数⇔帯分数）
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月　　日分　　秒

No,7　（仮分数⇔帯分数）
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月　　日分　　秒

No,7　（仮分数⇔帯分数）
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月　　日分　　秒

No,7　（仮分数⇔帯分数）
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